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B2 X 4 .(.fr,nz; ‘Finﬁfa(:)wﬁﬁﬁﬁ j:(zifr:f)é R 4 Tlﬁﬁﬂé\%‘ﬁ?g)n;k:F ?’5 jj(grzfm%)é R 4 .z,na; J:Jﬁ'ﬁ?ﬁ\(:)a)ttlﬁ: ﬂ(gifr:_%)é R 4 J:lﬁ'ﬁfJ(:)(DﬂZlEJ .z,nz)k J‘J(Eiﬁtn?)é
; 100kN/m#%#BZ % - -~ - -|3mEEBER S ~ - -| 100kN/m%#8Z % - ~ -|3mEBZ D -~ -
ZnLst 1.00 | 0.00 ~ 346 43.88 | ThWs | 000 ~ 546|246 12.46 Fns 1.00 | 6.00 ~ 7.20 43.88 | =nLS | 500 ~ 7.20 | 2.46 12.46
2 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
ZnLst 1.00 | 0.00 ~ 380 47.75 | RS | 000 ~ 380 2.35 11.87 Fns 1.00 | .00 ~ 6.70 47.75 | =R | 500 ~ 6.70 | 2.35 11.87
3 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 298 38.40 | ThWs | 000 ~ 298|253 12.80 Fns 1.00 | .00 ~ 6.80 3840 | =RLS | 5,00 ~ 6.80 | 2563 12.80
4 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 416 52.05 | £hs |0oo ~ 416 2.38 12.06 Fns 1.00 | .00 ~ 7.90 52.05 | =nLS | 500 ~ 7.90 | 2.38 12.06
5 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 253 33.44 | ThUs | 000 ~ 253|252 12.72 Fns 1.00 | .00 ~ 5.60 33.44 | TRLS | 5,00 ~ 5.60 | 2562 12.72
6 100kN/mM% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 4.30 53.77 | FhWs | 000 ~ 450|223 11.29 FnLs 1.00 | .00 ~ 6.60 53.77 | ERLS | 5,00 ~ 6.60 | 223 11.29
7 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 467 5823 | £hs |0oo ~ 467)221 11.18 FnLs 1.00 | 6.00 ~ 7.10 5823 | #nLS | 5.00 ~ 710|221 11.18
P 100kN/mM% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 435 54.35 | ThWs 000 ~ 4535|216 10.93 FnLs 1.00 | .00 ~ 6.10 54.35 | TN | 500 ~ 610|216 10.93
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh LS ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
TS ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
Zh s ~ Zh st ~ Zh st ~ Zh s ~
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
ZFhst ~ Zhn st ~ ZzhnLs ~ Zhnst ~
100kN/mM% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
st ~ ZhnLst ~ Zzhnst ~ ZhLst ~
100kN/m% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
ZhLs ~ Zh st ~ ZThLst ~ ZhLs ~
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